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Reeft : s go7-y7 &7 o i ar R et uE yrr
7 diford; dfdT adt goil & AreaT gw & g
T |

k . All questions are to be attempted.
Pari (a) of each question is compulsory.

T gy & Sww AT
9&F F97 FT YT (a) SHEE 21

1. Part (a) is compulsory. Do any two out of parts (b), (c) and (d).
W (a) & &1 90T (b), (@ F (@) F & g &t H |
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(a) Differentiate between intermediate and final gbods.

Under which category are ‘Capital Goods’ includec

qadl @ S awgen & @9 s &) Rl

et # Rew Aok # i R o b
(b) Why are goods and services included in GDP at the

market values? Are there any disadvantages in usin,
market values to measure production? Discuss briefly.

TE] T WS H ITh IR e U bl iy ST
(GDP) # i gnfaa forar mar &7 sare &y Ao #
INR Yed 1 IR HH P @7 gwar 87 g

T & | 5 -

(c) (1) Define ‘Private Savings’. How are they used in the
economy?

“fsTt =l @ Rt w1 5 srleawn w
Y IwEnT fRar S &

(ii) In an. economy, ‘Private Savings’ is 1065,
Investment = 1346 and the Current Account
Balance is negative (-220). How much is
Government saving in this economy?

% srefeaer § el s 1065 , s = 1346

T =T EIaT 99 FOSTH (—220) & | 57 Srefemaeen |

q W ua fhar 32 , 342

(d) (i) What are ‘Official Reserve Transactions’ in the
‘Balance of Payments’ of a country?

TF I & TAE A9 § e Rod a
T E?

(if) A firm makes and sells jam using fruit it buys from
another firm for Rs. 80,000. It pays its workers Rs.

50,000; pays Rs. 20,000 in taxes and has profits of

Rs. 40,000. What is its value added?
TFh BH gad BH & 80,000 To P @IS MY Hell B
 IYART e AH Bl g4I g d°dl §) g8 I

2

.h sefEr # 50,000 Fo T ¥, 20,000 Fo HT
. B9 40,000 To BN ATH FART T THB TH II&
w T B?
(iii) A factory owner purchased 5 new machines at Rs.

: 30,000 each. He sold his old ones for Rs. 60,000.
i What is the net impact of these transactions on

GDP?
.. o S & Wi T 30,000 Fo U A HAT W
5 9% Wl @St | SEe et qEE HeliH 60,000
%o = & | 37 F-aA1 B GDP W &
TS T BN ? 3+141

£

2. Part (a) is compulsory. Do any three out of part (b), (c), (d)
and (e). .
ST (2) AR & | 91T (b), ©), (@) T () F | IS AT HL |
(a) (i) What is meant by ‘debt monetization’?

‘ot RGO F ST T FHAS 27
(ii) What is the effect of an increase in expected inflation
on demand for real money balances?

arfaE qET 9w & forg @i o ek Wil
i ®T FT THE B7
2+2

(b) (i) Use the market for Central Bank Money to graphically
illustrate and briefly explain the effects of an Open
Market sale of bonds by the Central Bank on the

] Aﬁ equilibrium interest rate.

FEe W W W HEE 6 R G SO A
qivel F [ & g P G e B g
Rema ST @ T g 9% 99 & SR &
JUGAT H |

_mr,_ Define transactions velocity of money. Also,
caiculate-it if the current value of transactions in a

3735 ) 3 Turn Over
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year is Rs. 1500 crores and the money stock is Rs.
75 crores. .

TET A8 T @l GREIE Y| gger MO R
&, afe U a9 F A3 BT ARG T 1500 HUS
TUY T qET €I 75 HUS €9 & | 4+3

(c) (i) Assume, all money is held in the form of currency,

and that Central Bank Money is initially Rs. 200
crores. If it pursues an expansionary Open Market
Operation worth Rs. 10 crores, what will be its
impact on its balance sheet and the money demand
and the money supply curve?

o A, fo Tl geT B & w9 H © 9 3T |
¥ g §6 TET 200 HUS WG T AR TS 10
s &9 & g & faRga g SR gk
AT & A g S offe, T @ 7 SR qm
@ gftt W R T g

(ii) Discuss the Cambridge version of the ‘Quantity

Theory of Money’. When is it equivalent to the
Fisher’s version?

ey & aRETr Rigia”’ & dftser w7 & =l B
5 fHX ®T & U ha BT &7 4+3

(d) (i) Assume that all individuals do not hold currency

8735

and that the reserve ratio (R/D) is 0.25. Also, assume
that the monetary base equals Rs. 300 crore.
Calculate the amount of:

= Wi 5 =ik du o S e @d 9
R St (R/D) 025 ¥ 1 7% < wiwg & A
U 300 I T & IR § | e @l
HIET &7 IUET B

(1) reserves

iSE]
(2) checkable deposits

Fdaw AT

8735

. (3) the money supply
. REUCIN

(d) the money multiplier.
HeT T[0Tk |
(i) Briefly explain, what happens to the money
multiplier when there is an increase in the proportion
of money people want to hold in currency.

o ¥ gfE H A gET O W T g9
TS | 4+3

(e) Derive an algebraic expression for the demand for
Central Bank Money in terms of the parameters C (ratio
of currency to money demand) and @ (reserve deposit
ratio). Graphically illustrate the equilibrium in the
market for Central Bank Money. How would the
equilibrium interest rate change if the demand for
Central Bank Money increases?

S % ol B T B WHed C (BCHT H R A
¥ o) 7 @ (Rord s Siguw) % &9 # S
WET B FA B BAA 9 G B O IR
A Bl FREHT ST § 8T | G A W by
el afe HeiT % qET # AR 5§ AT E

3. Part (a) is compulsory. Do any three out of parts (b), (c),
(d) and (e).
AT () S ¥ 1AW ), (@), @ T () F & FE WA
I .
(a) Comment on the following statements:
Frafaia aeal | T &
(i) In the Keynesian model, an increase in Government

spending leads to an increase in both consumption
expenditure and savings.

HARGEE AieH §, WK 7 F ghg § 9o =g
T S9d a ° gfE B ®)
5
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(ii) In the Classical model an increase in money supply

(b) (1

leads to an increase in real output and price level.
Faha dsa ®, 91 it § e @ awafas
IAE T HHa @l 7 gfs ekt &) 5

Illustrate, graphically, the determination of interest

rate in the classical system. Explain what happens
when there is a drop in autonomous investment
demand. Does it reduce the overall demand in the
economy?

e SEEtr § St yoTEl ¥ e &< e
T THATST | HREAT B T B AfS wafad o
W H ST § | T qE Sreferaedr § g HiT &
I &7

(ii) For a simple model of the expenditure sector with

© ®

Government and income taxes, derive the
expenditure multiplier and explain how it changes
as the marginal propensity to save increases.

T BT T WHR & 9Y AT &7 & Th GERT

Hiew & [ =9 oI FF A B 9T TS DL

5 78 4 SEor At W g9 w9 e o |
545
What are ‘automatic stabilizers’? Give example.

“Imee RR@ETT’ T ¥ I § |

(ii) In a simple expenditure model, if total autonomous

spending, A is 800, the marginal E.ouanmma. to save
is 0.2 and the marginal tax rate ¢ is 0.25, what is the
equilibrium level of income?

T |ERY g Higq ¥, A @ wEia 0 A
800 ¥, ¥ <9 waf 0.2 B, 9 W &
0.25 &, @ T BT WIAT TR HT EM?

(iii) Define IS curve. How would you describe points

8735

above and below the IS curve? ;

IS 96 & URWING FIISTF q SR g 99 &
fargeil @t oy =R HE FA? 34344

6

“(d) (i) Explain with the help of an IS-LM diagram, the

8735

impact of an increase in the supply of money on
the level of income and interest rate.

A TR T A ) W A O F gfe & v @
1S-LM frsr @ wergar § e &l |

(ii) Assume the following IS-LM model:

Goods Market:
4

Consumption (C) = 5@+Wé

Investment (I) = 300-40:
Government purchases (G) = 120
Taxes (TA) = 1/4Y

Net Exports (NX) = (-20)

where YD is disposable income
Money Market:

Real mongy supply (M/P) = 250
Money demnd (M?) = 1/4Y-100i

frfafaa 1S-LM bisa &t A1

=T &=

et ST (O) = _8+mé

ol fT (1) = 300-40i

THI @lig (G) = 120

F (TA) = 1/4Y

g Fafa (NX) = (-20)

&l YD yaOg 3

ECURC LI

arafas g1 gfid (M/P) = 250

qET JIAT (M) = 1/4Y-100i

(1) Derive the equations of the IS and LM curves.
IS-LM T} & §HER0r I &Y |

() Determine the equilibrium levels of income (Y),

interest rate i.
Y i i & wge W A Rl #

7 Turn Over
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(e) (i)

(ii)

(3) What are Em levels of consumption (C) and monzy
demand (M) corresponding to equlibrium level
of income? ;
SUNNT = (C) T HET W WO MY B Hgad
& &l FEiRa &t 4+6

Explain how output and employment are

determined within the classical macroeconomic

model. Also discuss the impact of an increase in
women participation in workforce on real wages,
ouiput and employment.

T H 6 B FdHA AT aife qiza
% Jata Sa g A9 PufRg 39 &) ae of
EEISY Bl VSR, IS T AqERSE qAGH W
AfgrsT @1 wria § e 8 @ g 7 gf
H FT GG BN |

Suppose, we have an economy described by the
following equations:

, . 4
Consumption Expenditure, C = mc+w<U

Investment Expenditure, I = 70
Government Expenditure, G =
Transfer Payments, TR = 100
Tax rate, ¢t = 0.20

Where YD is disposable income.

Calculate the equilibrium uo<& of income and the
budget surplus.

= W # BN U U srefermeer @R
FrfoRad TR gra gwiar T @

e STHAT € = mo+mh
e PR =70

TWEHN @UE G = 200

BEAGOT YA TR = 100

F =020

el YD yasg g

S ST T AT H I WL BT G BN 5+5
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SECTION A 10x3=30

Answer all questions.

What is patriarchy? Give examples that show how
patriarchy negatively impacts society.

Or
What is gender? Differentiate between the terms
gender and sex.

Discuss the term feminism. Why do you think
different kinds of feminism need to exist?

Or _
Examine -with examples how generally accepted
ideas of masculinity constrain men and impact
society in general.

Define sexual harrassment. How does sexual
harrassment create an environment that affects all

women not just the victim?
BT
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Or

(b) Examine how sex selection is a consequence o
patriarchy and leads to further gender bias.

SEcTiON B

Answer any three questions.

Name of the Course

1. Discuss how laws against dowry and domestic violence
recognise that the home can be a
gender-based violence.

2. Discuss the impact of socio-religious reforms in the

Duration :

Your Roll NOwcecrrrieanees

§r. No. of Question Paper : 2350 GC-4
15x3=4{jpique Paper Code 22415201
Name of the Paper Macroeconomics

Generic Elective Commerce

space  Ogemester 5 -l

3 Hours Maximum Marks : 75

nineteenth century on the status of women in Indiang,¢ructions for Candidates:

society.

1.

3. Analyse legal provisions made by the State to _.unonwg
the :mra of women in the workplace.

4. What do you understand by the term ‘Ecofeminism’
Comment on the connection between rural women andy

‘their environment. 3

5. How do the narratives of Dalit women draw attention
to the strong connections between caste and gender?

2

Write your Roll No. on the top immediately on receipt of
this question paper.

Each question is compulsory except question number 6 which
may be attempted by only visually challenged students in
lieu of question number 5.

Answers may be written either in English or in EE% but
the same medium should be used throughout the paper.

] ol A

6. lllustrate with examples how Partition literature showy
the relationship between women’s bodies and national,
religious and community ideas of honour.

7. Do you agree that Sultana’s Dream is an early example
of feminist literature? Justify your answer with
reference to the text.

< il

2.

3.

=] - B e 8 ew Ry T FuiRa T W S sEwE
Tefeg |

TE 6 T IS T UE HEr B, W U E, 5 F T W A
e B B0 A AT o w8

T We- a7 IR Ao a1 BE R ven s i afore, afe ws®t

IR T AW TF & B =AM6T | .
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1. (a) Discuss the components of aggregate demand in an opg. (a) In the Keynesian model of income determination, the
economy. . (5 rise of investment leads to a greater rise of equilibrium
incorhe as compared to rise of investment. Explain your
OR answer with appropriate reasons. (7.5)
How does rise in government's deficit affect the mark OR

for loanable funds?
What is budget surplus? What is the extent of change in

(b) What are the determinants of business fixed investmen, budget surplus due to change in government expenditure
Explain. Qf assuming that tax is collected in proportion to income
in the economy?
OR
(b) What is crowding out? Show that in a classical range of
What are the determinants of total money supply in LM curve rise in government expenditure does not affect
economy with fractional reserve banking? Elaborate. n@cw:dlﬁz income in the economy. (7.5)
(%) TR sfemen ¥ wwlom AT & wew w fFaE bk OR
3Tan . " What are the factors that determine the equilibrium level of

income in an economy where money market and goods

ﬂmﬂ&ﬂwwm@wmﬂqgﬂﬂ&ﬁ%%@agd market are interdependent?
TIfEa & B | . |
(%) s FuRe & ST dew ¥ FEw ¥ gfg & weees e
(@) e e FRw & Rl T w87 o S ¥ ofe & g X wgew o ¥ U gie A B IR
FROE F TH IAX IR F A HIRI
e \
Frerar

A Rod IpT At anfamen ¥ Fu Ao Aws @ HOl

T -8 87 RBEr ¥ e | PO
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o - AW F Ber 37 @8 A o R srfemaen ¥ o
w AT FH I A THCS A W B, W AR @
UREHT & HRO Woe HERW X ofadw @ g @ 3

(@) wefRn see = gar 27 vefila #iftw & @ wd § |
T & Fonae aRe A gfe, sefamen ¥ s @ wge
gwifdd 8 &

. W

Jreqan

W seforaen ¥ 3@ & Fge wR S FuiRa w9
F-¥ ¢ oW 497 IR SR IR - SR s ek B i
The following information is given about a closed econom;

C =5+ 0.8Y,, where C stands for total consumption an

Y, stands for disposable income

I = 280-5i, where I stands for investments and i stands ft
interest rate .

G = 315, G stands for government expenditure

Tx = 0.25Y, Tx stands for tax and Y stands for nation&
income ,

M/P = 400, where M/P stands for supply of real balance

2350 5

I = 0.4Y — 5i, where L stands for demand for real balance,
Y stands for national income and i stands for interest rate

(i) Find out IS and LM equations (4)

(ii) Derive the equilibrium level of national income and

interest rate. (4)

Qmu Derive the change in equilibrium income and interest
rate if G rises by 100. (4)

(iv) Derive the value of fiscal policy multiplier (3)
OR
The following information has been given for an economy:

C = 400 + 0.75Y,, where C stands for total consumption

and Y, stands for disposable income

I = 200 — 8i, where I stands for investments and i stands for

interest rate
G = 350, G stands for government expenditure

Tx = 0.2Y, Tx stands for tax and Y stands for national

income

~ Tr = 200, where Tr stands for transfer vm%S..oE

P10,
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M = 800, where M stands for nominal money supply L=04Y - 5i Ted Laafds 3w & R sitn & fg ik Y I

@@ A W R/ & fog @)
L =0.3Y - 101, where L stands for demand for liquidity,

stands for national income and i stands for interest rate

(i) IS 3R LM wisell =1 Fm #ifmw

P = 2, where P stands for pric .
EEEEE R price (ii) U@ FE SR AW W H AT WR AN GeTA Bl
(1) Derive the IS and LM equations and also the equilibriy ‘ = of
level of income and investment. (55 AEV qget Aq R =TSt X H R S m G100

¥¢ Wl i
(i) What does happen to equilibrium level of income ay

interest rate if M rises to 1000? ( (iv) Toenda R R e e S

(iii) Will your answer be the same as in (11) question if i
rise of M by 200 is accompanied by rise of G by 20t

C o snfomen & R freforee oo @ T 2

A4l

dT gfemEen & A Pl ww S o 2 C =400+ 0.75 Y, W&l C o @I & forg 3t v, 7w am &

C=5+08Y, & Coa = 3R Y, vdww sm 3 _waw

MHNwolmw%ng%g%wgﬁ%%W_ Hnwo?mwaﬂﬂéug%.@d%w%ﬂ%w@dw_

G =315 e G ol =7 2 G =350 W8l G @R =g & fog 2
M/P = 400 Rad¥ M/P arafs Ay 2  Tr=200we Tr sRe sEE @ Ry

PTDO



2350 8 1350 9

M = 800 W&l M @nFm #gT = & g Bl OR

L=03Y - 10i W&l L& & 60 & fog sk Y oeda s Derive the Modern Phillips Curve. What does determines
e - & the location of Phillips curve for an economy?

P=2wd PEwE @ Rw 2 (%) TORE 3R sweniE ey o anm @ 27

(i) IS 3% LM @il 1 =gt sifore 3t o war faw e

]

g L T e R B TR W B TR S R wE R i

(ii) 3 1 AT W B AgAT T H F B 2 M 10005 7 s W R SR 2

; \ (@) weffa #ite & seoma & sefamen ¥ wwfm s aw

(ili) =T 39T ITR FE BN o T (i) F afe M 200 @i g ﬂ.ﬁ.%%wﬂ%%ﬁwﬂ

@ WY GH 200 W I B ww

Udr

4. (a) What are the costs of expected and unexpected inflatio sy fhforw o =t T St | FEE & forg fhfer
(7 T @ WE @ ke e dar 27
OR

5. (a) Derive the national income identity for an open economy.
How does the natural rate of unemployment depend up Also show the interdependence of capital flows and trade
job loss and job finding? Explain appropriately. balance. (7.5)

: : : 2 OR

(b) Show that in an economy in the short-run the aggregé

supply curve is upward slopping. (7 What is real exchange rate? How does expansionary
fiscal policy at home affect the real exchange rate in a
P.T.O.
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small open economy with free capital mobility? Illustr; Srerar
your answer in a classical framework of economics, ,

T B Gt sieraen ¥ wemm @@ AR SRE @
FHIEEeE W Telia Ao e - R ke @ e
W i w® Tt B 2

(b) Derive the IS and LM curves for small open econor,
with the perfect capital mobility and flexible exchan,
rate. Will monetary policy be ineffective in such ,

economy? {7

5. Attempt any three questions:
OR , 4
(a) Will the rise in price of foreign goods lead t
Show the effectiveness of fiscal and monetary polici ¢ il N

. Raiigin depreciation of domestic real exchange rate? (%)

in a small open economy with fixed exchange rate syste

as per the Mundell-Fleming model. (b) Derive the relationship between savings, investments and
trade balance. (3)

(%) gett sefenaen & forg U o S wEEH FerT Sl @
# Uoive gaml 3R AR I F FathRa & w=iw w0 (o) What makes the domestic interest rate of small open
economy equal to world interest rate? Is there a situation

IrrEr 3 when domestic interest rate is different from world

interest rate? State your answer with reasons. (5)

Trfae fafem = = B 27 W wrad aeee

- e D . 7 ey g (d) Do you agree that government expenditure multiplier is
onmw 3 aﬂw.md.,_uﬁ i greater than transfer payments multiplier? Explain your

& TG e A T i

answer. (5)

Frfefe % @ &8 6 = = St
(@) B8 |etr srefeaeen & g IS 3R LM ookl st =geqeT shifyy
e T I wfedierr sk el fafmm w2 wmn U (F) @ A ww A wew ¥ 9fe ¥ e awhe B w S

1

grfemaen ¥ Hifew AT e B W ¥ T ENm

P.1.0.
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Instructions for Candidates

f 1. Write your Roll No. on the top immediately on receipt of
) this question paper.

2. The Qcom:g Paper contains two Sections, A and B.

®3. It is compulsory to answer all the questions in both the
sections.

4. Answers must be written according to the specific
instructions given with questions.

Section A

. Explain any five (in not more than 30 words) of the following
terms : . (2x5=10)

(150! . BoLib),
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(1) Storyboard

(ii) Media

(iii) Twitter

(iv) Android phone

) Feedback

(vi) Google+

(vil) Tagline
(viii) Pamphlet

(ix) Advertising Standard Council of India (ASCI)
(x) Hypertext

i d3in
Answer questions no. 2 an

about 250 words each.

m.

recent years.

OR

HHHU.
H.m.-

9389

B o———— s

3. Do you think cyber media has changed the way we

encode or decode Ewodﬁm:ob ? Give examples to support
your view,

OR

\ What is photo sharing in social media ? Elaborate
ke

your answer with an example of photo sharing platform

(10)
Section B
Answer question no. 4, 5 and 6 in
about 350 words each.

4, Eﬂﬂo a aﬁm:na report for your college magazine about

the Annual Day celebrated in your college on April 15t
) 2017.

OR

Write a script for a radio feature on Cleaning Polluted
Yamuna River in Deihi.

(15)

Write a review of a Hollywood feature film that you
recently watched.

OR

(10) watched.

Review any two episodes of a TV serial you have

(15)

Irll
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Suppose you want to create awareness through a qu

the unhealthy food eating habits caused by the fast mOn T

culture. Describe the steps involved in signing up ay

creating a blog for this purpose on a blogging site.
OR

Write an editorial for a newspaper explaining to nwmms,
the significance of the use of e- -paper to save trees ?

better quality of air in future. (15

(1900

»

“.
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T4t yv7 sifaard &4

L REHA 42 F fau faet T s ¥— @ wuT
ﬂmﬁwﬁaﬁﬁﬂﬁmgﬂgﬂwﬂuﬂ
sIfeTT | 14

T
TCHAT % WEY F T9 T g WE R} fE gy
Hmﬂm—ﬁ#ﬁmwﬂ%mqﬂﬂmmmqw 14

2. IR ffeq & @< ¥ weHd-oeT 3 oy w v
mqwm“ 14
AT _
mmwmaﬂwmﬂﬂm_%qgmﬂzmMﬂmwmmﬁwumaﬂﬁq
S W@l A1eT ? FIKE 99 iy |
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H VT 86 T ; A throughout the paper.
5. f&=l dm w feorit fafew ﬁmﬁ%“fwﬂﬁuﬁmﬂmﬂﬂ%ﬂﬁwwﬂ@ﬂwﬁ
GamiAs T g o T T AT AT ad I I Ay T &
() o S TeHA F 3 . . & =R
@ FE AR AR,
an A arEeS ¥ dag g fagmar Attempt any four questions.
; ‘ All questions carry equal marks.
() ferelt fipem 3 afefa worg 1 fawer | |
Lo e P . | 14 o6l @R 799 % I Sfor
® & e e .

9 T F SfF wory §

1. Examine the main sources for the reconstruction of
the ancient history of Delhi.

mﬂ%ﬁﬂwg%ﬁgwﬁﬂﬁ%

L




&30

geopral phical condi- o
. Lal Kok Anstesic Tap B

5 Discuss the environmental g
tions of Delhi during the preb istoric times. * , Anangpur Forl, Purana Qila : .
Pithora Purana Qila and ila Ral

gritfaeTiaes Freeft o SiTGE N

1 FUT RIS | W N 3 L AT feren e fean wm fogie
i g L3 1 ..m.M .m..—ﬂ ﬁﬂﬁy ~ =
) I & X -
AR W faoer =&

Ye-AegaIela giaerd sl qAHHi Sifeg |

3. Provide 2 comprehensive Survey of tool types and sites
of the prehistoric National Capital Region.
8.

ﬂmﬁﬁi%%u&%ﬂﬂﬂ%ﬁ%m;_&

%Q&Wﬂ&ﬂﬂﬂmiﬁéﬂ?ﬂ

Wi
rite short notes on any two of the following:—
(a) Painted Grey Ware sites of U‘qu

(b) Historical significance of the burning of Khand
ava

4. Write an essay On the main features of the forest

ﬁaoﬂo-?mﬁo?n settlements of the Delhi region. | (¢) King Chandra

et & % SeT- UfEE et <t T faRanst (d) Descripti
i ption of the building of Sabha Bhavana i
in

R T fate | the Mahabharata.

5. Analyze the historical significance of the Bahapur _Wm_ ) ik i & w diw feoult fafa
Rock Edict of Ashoka. | (a) facelt % fafia g yavie @
%wﬂ%wﬂ@dw%ﬂﬂﬁ (b) EUET I ¥ FT T F AR e
ool ST | (c) TS 9%

(d) FEIERE ¥ WA wo 3 Frwior v qu |

6. Discuss the historical importance of the legends |

associated with the gmgm:: Iron Pillar. ﬁ
%%ﬂ@%ﬁ%%%i
Te o aud sHiST | |

|

edieval political history of

7 Reconstruct the early m
ce from the excavations at |

Nelhi on the basis of eviden
560
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This question paper contains 442 printed pages|

Roll No. .

S. No. of Question Paper : 2447

Unique Paper Code D 32355202 GC4

Namc of the Paper ; Linear'f\lgchra

Name of the Course :Generic Elective : Mathematics for
Honours

Semester il

Duration : 3 Hours Maximum Marks : 75

(Hrite vour Roll No. on the top immediarely

l. (¢r)

(h)

o receipt of this question paper. )
Altempt all questions by selecting
any nro parts from cach question.

I v and v are vectors in R”. then prove that

U Nl vlE = 0w P + 1] if and only if x =10
and

(i) xr= (s + v =)= pf?), 343

I
-“ = BT
4
Let v and v be non-zero vectors in R”. then prove

that
N+ vl =lx|+ Ll

i and only it v - cev. for some ¢ > 0. 6

PT.0




12

(-2 )

equations

s

dx; = 8, ~ m»..

5v, = 2x, =0

Ju, =
20 = By + &y = 0.

()

following matrix :

an

converts B back to A.

(b)

the matrix :

Is A diagonalizable ? Justify.

2447

6

of the

n_.+\r.~ Va

; i igenvalues of
Find the characteristic polynomial m_E eig
ind

(c)

(h)

()

2447

—_
2
~—

Let V be the ser R? with Operations addition and scalar

multiplication for Fowo 2 and ¢ in R defined

[x. ] ® [, 2] = [¥4+w=2,p4-y 3], and

@ S x, : =[a¥ — 2 + 2 ay + .w,h.. 3],
Prove that V is a ve lor space over R. Find the zero
vector in Vo oand (he additive inverse of each vector
in V. . 4+21
Prove that the §or § = t03, 1, ~1]; {5. 2, -2],
(2 20 11§ s linearly independent in R Examine
Whether S forms a basis for R3 o 4
Find a basis ang the dimension for the subspace W
of R? defined by ".. : . 6

W= ﬁ € R : 2% - 3y + =2 =0y,

Let S = {[1,2]. [0, 1]} and T = L . 31} be two
ordered bases for R, | ef y - [1. 5). Find the coordinate
vector [v]g and hence fing [V} using the transition matrix

C._.Tm, from  S-basis 1o T-basis, " 43

« : ) PTO.



(a)

(b)

(©)

‘,_3

E a0 2447

k. fi hether -homogeneous linear
Using rank. find whether the non g

system Av = b, where :

12

Lt 7 6

A 6'4
has a solution or not.
Suppose L : RY — R2 is a linear transformation with
L - 2 ‘
Ligh, <1, op =.[2 1} wio. 1. =1y = [, 31 and
E.o 1. 0]) = [0. 1]. Find L([-1. 1. 2]). Also give a
- 3 M_j\w
formula for L([x. . ] for any [x. y. 2] € R 4+
Let L : R — R? be the linar operator given by
Lifx, ¥ =d2x — )X — 3y]. Find the matrix for L with
X ] {7 a
respect to the basis {[4. —1]. [-7- 2]} using the _EQ_E
6'2
of similarity.
- : - 2 - n&
Consider the linear transformation L : P, = R detin

by
|
L(ptx) = [ ptx) d.
U

W 1 1 ials 6—4
5@—.& .—UJ mw _:_G vecto mﬁmﬂﬂ -.um. ﬂc_v‘ﬂeg—m—_

L I : W i M—GM
Qﬂm-ﬁﬁ &L 0 _mu.-m_. m_..—D / __.—:.wﬁ L 1s onto ﬂ-_.=

one-to-one.

(6)  Let W be the subspace of R3

whose vectors lie in

the plane 2x + y + = = 0. Find the minimum distance

from the point ELP_ 10, 5) to W.

Find a least squares solution for the linear m.wmﬁa

Ax = b, where

T by 0

Use the similarity method to show that a rotation about

the point (1, 1) through an angle 6 = 90°, followed

by a reflection about the line x = | g represented by

0 1. m
the matrix 1 0 2| Y ] 6%
0 0

Let L : P, - R? be the linear transformation given

by :

L) = [p(), 5/ (D),

P.T:O,

2447



2447

2447

i nge(L),
2 or less. Find a basis for ker(L) and a basis for ra

i 4+2%:
d also verify the dimension theorem.
an

For the subspace W = {[x, . z] € R
L and
0! of R, find the orthogonal complement W
4z = 0} |

i 3 4+2%
irfy that dim(W) + E_:Cea,u = dim (R”).
ve

4,800

[This question Paper contains 4 Printed pages.]
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Sr. No. of Question Paper : 8823 GC-4

Unique Paper Code © 12325905

Name of the Paper - : Cbmﬁ.mﬂm:%sm Ambedkar

Name of the Course : B.A. (Hons.) Political Science
(GE)

._mmewHQ. ¥ I

Duration : 3 Hours Maximum Marks Ak

T ;3 que T ¢ 75

Instructiong for Candidates

Write your Roj] No. on the top rsEma_.mHQ on receipt of
this question paper.

Attempt any four questions.
All questions carry equal marks.

Answers may be written either in English or Hindi; but the
same medium should pe used throughout the paper.
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3

1. Examine Dr. B.R. Ambedkar’s contribution as a Political, — & o v o
IRewT @ T T Eees
S == e
|

Sociologist.

S 6. Elab
TR T 3 w7 F 3 9 FL IFASH & dnrer @ e orate Dr. B.R Ambedkar’s roje in the
emancipation of

HeT |

" o . B R H 3 R e
N.Hﬁm?ommﬁaBmEmmopm the most effective strategy for the % e | ftrer Wﬂd e

annihilation caste’. Discuss.

. 7. ‘Dr. B.
s e W S=EE A TR e o 2 e o R. Ambedkar was a relentless chamni
SR | rights’. Explain. ampion of human
3. Explain Dr. B.R Ambedkar views on social justice ‘ " ® WEE qer
. . BR. . B | e R A 1

e s o e s (A 11 8 ﬂ&mﬁ%mﬂw%%%@f “mx
:  Write short notes on any

two of the following :

4. “Castes are anti-national”. In the light of above statement, Pl ¥ 2 N
1 e R ey

discuss Ambedkar’s ideas on Indian nationalism.
(2) Fraternity

sfert g B R | S ¥ ! )
s @ Rl @ T i ) ﬁ
3R
(b) Hindu Code Bi][.

5 Discuss Ambedkar’s ideas on Religion and Religiou$|

T

Ry =iz fw

P.T.O.

conversion.




8823 4
(c) State and Minority
(d) Ambedkar on Land Reforms

sfit QUR T SRS

[This mcnm:os Paper contains 4 printed pages.]

¢ Your Roll No...............

Sr. No. of Question Paper : 882¢ GC-4

Unique Paper Code © 12325908

Name of the Paper : United Nations and Global Conflicts

Name of the Course : B.A. (Hons.) GE CBCS Political
w oG Science

Semester i)

Duration : 3 Hours Maximum Marks : 75

g ;3 " . m./q%ﬂ <75

Instructions for Candidates

L. Write your Roll No. on the top immediately on receipt of
| . this question paper.

2. Attempt any four questions.
_ 3. All questions carry equal marks.

4. Answers :“.m% be written either in English or.Hindi; but the

same medium should be used throughout the paper.

_

wmw & forg fdo

__ ﬁﬂm;ﬂ%wmw%ﬂﬁmaﬂa%ﬂﬂﬂﬂﬁqﬁ%

P i

LR aw v S e aRm

Loushtue @ s gae
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R 1 Q

Nations. -

wer Tz & R v SR O A

era.

. : T
e e T ¥ g aReE A S i S g
wer A e A B |

3 Analyse he r v ents of the In 1 I
ernational
1 t tl t
ole and achievem
. J\ t

Labour Organization.
FAS AL 1 oy T
[ . % g R S
X e 1l
e |1

the, United Nations.
:%@.%ﬁ%:mﬂﬂ%mﬂﬂﬂQﬂM%memﬂﬁ#ﬂﬁﬁwzmﬁﬂ

ot @ v ¥ e w F W ST F A AL
HWT |

8.

8826

5. What do you understand by the Millennium Development

Goals ? To what extent have these goals been realised.

ﬁﬂgﬁqmﬂamﬁﬂ@.%Emﬂmﬂqugmww.Wﬂ&?=Qﬂmﬂ
e # ol gs @ 7

Examine the role of the United Nations in resolving the
Serbian or the Bosnian crisis.

ﬁ%aﬂq$Wﬁqmgmmwmﬂ%wwmﬁﬂﬂ#ﬂmwm@mdﬂfﬂﬁs
HIRTT |

What major reforms would help the United Nations f

ace the
chal

lenges of the twenty first century ? Discuss.

mﬁ%ﬁﬂmaawmwm&ﬁaﬂmqﬁaﬂmﬂme@am#A@mﬁﬁmmm
ﬁﬁﬁaﬂuﬂwaﬁ.ﬁmqmmﬁu%i%f

Write short notes on any two of the followings :

wﬂﬁ%ﬂ#wmﬂmﬂwmwndeﬂﬂmﬂiﬁ@@H”
(a) The United Nations Charter

|GTH T AT
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S. No. of Question Paper : 9468
(b) Veto Power _

Unique Paper Code 12115919 GC
3 e
Name of the Paper : GSE-PSY-04 ; Psychology at Work
; 1ons Environment Programme )
(¢c) The United Nations Envirom ° Name of the Course  :  B.A. (HyB.Se. (H) CBCS (GE)

oo T TR T Semester C v

| setion 35 K Maximum Marks : 75
(d) The Korean War

ﬁ (Write your Roll No. on the top tmmediarely op receipl of this guestion paper.)
FIRAT TF
Aﬂnﬁ;ﬂ%?ﬁﬂﬂagﬁw% WA R A s fafag )

Note — Answers may be written either in English or in Hindi;
! )
but the same medjum should be used throughout the
§ paper.

fewut . mﬂaﬁlﬂﬂwﬂw@%ﬂqwﬂiﬁﬁs
& m%@ﬁ@ﬁﬂﬁ&ﬁ@ﬁﬂﬁﬂﬁ%@ﬂ
=feq |

Attempt All questions.

A/l questions carry equal marks.

it g F 3w AfE
4l g # s owmm §

P.TO.
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What is Industrial/Organizational Psychology ? Trace the
historical development of the field with special emphasis on

Human Relations Movement. 15

%@m@@d&ﬂﬂi@mﬂﬁqw 7 qeETE FaY SR

ﬂ@@mﬁﬂ%@%ﬁ@ﬂ%%%
a5 Uftes foawE w1 oAvE RIS |

Or
(3rgam)

Discuss the contemporary challenges faced by the field

of Industrial/Organizational Psychology with suitable

illustrations. 15

%%%%ﬂ&?ﬂ%i@%ﬂ%ﬁ
wﬂﬁﬂ%ﬂﬂiﬁﬂ%%ﬂm&ﬂ
FifT |

What is work motivation ? Describe and critically evaluate

Herzberg’s theory of motivation. 15

i s T E 2 e & shEn @ e
& 9o @i STeiEEs qedsa it |

or
(3rxa)

Which theory of work motivation, in your opinion, can be best

applied to contemporary organizations ? Discuss. 15

%@wﬂzmﬂaﬁyﬂéﬁ%ﬁ?ﬂ&ﬂﬂ%
e § wdans w9 @ on fe S wwa ¥ 7 faee
FHifea |

: e i
| m. | I | | A e n m..—ou
5 on
.

Or
(3rer=)

X d
p=3

are the basic
channels of non-verbal communication 2
) 15

e i
s E_:ﬁ_ﬁiﬁ%@m e

What is the r
ole of a leader i
In an organization ? EJ
! Elaborate the

I5

T T 3T N i et ¥ 2 .

contingency theories of leadership

Or
(37era)

D ]
1

leadership.
15

T H1 wfnfi i | g @
. faf¥rear siv semifi
fagr #1, avf7 #ifem | Bl

P.T.O.



Write short notes on any rwo of the following : TV, 12
(a)  Scientific Management

(b)  Goal Setting

(¢)  Barriers to Effective Communication

(¢)  Transformational Leadership.

frrfafen 4 4 frdl @ W dfaa feomht fafam .
(%) I e

(@) @ fuio

(M) st s & A

() IREEEHR Tge |

This question paper contains 8 printed pages.

Your Roll No. ............

Sl. No. of Ques. Paper : 8764 GC-4
Unigque Paper Code ¢ 1205201

Name of Paper : Formal Logic (GE)

Name of Course : GE : Hons. for Philosophy
Semester : I/IV

Duration : 3 hours

Maximum Marks $ 75

(Write your Roll No. on the fop immediarely
Oft receipt of this question paper.)

aﬂﬂﬁﬂ%@ﬂ%gm@ﬂ%%ﬁ
TG ST fofder )

Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout
the paper.

ma%nwmﬁﬂﬁﬁ%&ﬂﬁmmw@%aﬂﬁ
%&@#&@dgiﬁﬂﬁﬁﬁ.%%ﬁ
TFIfeT

1. Attempt any two out of the following:
Pl & & el & a1 o i
(a) How is a sentence different from a proposition? Discuss

with examples.

nﬂ%maﬂﬁv@gﬁmﬂﬁzwﬂwwﬁﬂa
afed =T #Hifm

Turn over



(b) “The truth or falsity of an argument’s conclusion does

not by itself determine the validity/invalidity of the

argument”- Elucidate.

‘gierr & frepe & qoaan argEn sraEar | g, g
& Yemyeryar & Piad 78 Far— g REe
Hitg |

(¢) Explain with the help of examples how an argument is

different from an explanation.
eretor afeq awense fF gRR fhw yer e ¥
B 31 4x2=8

2. Attempt any two out of the following:
frfafaa § & 58 @ & S G

(2) In how many ways may two people agree or disagree

‘about a phenomenon or a situation? Discuss with

examples.

3 wfe fedr Tear stgar aRffa & fag, e gar
3 geufy Ude X GFHd B¢ Samdw iead @EEd
HIY |

(b) State the three basic functions of language. Which

language use is the logician’s chief concern?

yror & 4 AfE T FY SdET | ST H OB 9
yanT aEeme % fe e fawa B

(c) What is meant by distribution of terms? Explain which

8764

terms are distributed in A, E, I and O propositions.
2

T

Y

i%%wmﬁﬁqﬂm;w AT FIFAT & ALE, |
ﬁﬁo%ﬁm%,%@ﬁ%%w;%nw

3. (a) Write a short note o existential import.

TAEH T W GRre Rrogofy WHIToTT |
(b) If “All pilots are healthy”

b
IS given as true, determine

the truth and falsity of the following propositions:

At @t faes e 8 ¥ ay B, ar frerfaferg
B AT S sraerr v
(i) Some pilots are non-healthy.
BB frms sy B ¥
(ii) No pilots are non-healthy.

4. (a) Write the following

2¥a%2=5

in their logical form (Do any four):
wﬂ@@mﬁﬁ%ﬁ@ﬂm%mw@ﬂ@w%
aw):
()  Soldiers are never dishonest.
Rl & off adam w8 93 ¥
(i) Politicians are corrupt.
RERIRE R e
(ii1) There are no pink elephants.
FE oFF et eeft T ¥
(iv) Not every novel is a satire.
ol SomE v 9 A E

-
2

8764

Turn over



(v) Cats are not lions. ,_ . iz ?Em:.v

fafeararl 9X =80 ¥ o 4 Some fruits are tasty foods, so some tasty foods are
(vi)Only braves are winners. nutritious as all fruits are nutritious,
| dae qegt & fawed B ¥ 1x4=4 M@ﬂﬂﬁﬁﬂ&ﬂ%w@aﬂmﬁﬁﬂﬂﬂ

| | e & ¥, i wh ww difes ¥ 6

(b) Do the following as directed: L
(b) Test the validity/invalidity of the following by Venn

s REIN o £ _ diagram (any rwo):

(1) All logicians are mathematicians (Converse) .._. o g W_ﬂ@@m 7Y Jerr areraT 2 qler I e
o aaret s ¥ (sRads) 1 R (@ ) :

(ii) Some students are voters. (Obverse) (i) AIl-IV

| %5 R W ¥ (afad) 1 | (ii) AOI-II
A : | (ili) OAO-ITT

(11i) All merchants are pirates. (Contrapositive)
it e A o ¥ (aRfead) 2 _ (VIAI-T 3ax2=7
6. (a) Write short note on the following (any one):
Fefafad w afire fropf) DT (T Tap):

() Uses of symbols in lIogic

wﬂ@@méwﬂﬁﬁuﬂﬂﬁmwﬁ@awﬁ E R O S
SHH U/ HITAT FT YT =EgfdT b o & (i) Stroke Function.
Ewﬁﬁ.%.ﬂ BIF e | 4

~

m 5. (a) Reduce the following syllogism into standard form and ﬂ )

] test its validity/invaidity using syllogistic rules:

Some philosophers are musicians, so some scientists (b) Symbolise the following using the suggested notation
| are musicians, since all philosophers are scientists. P (any four);
_ %9 aif wiew % o w4 A W Rt sl a7 e et g P o g 5
wiifs wl awffe ff ¥ | fofey (@ =m):
! 8764 4 600 8764 5 T




(i) Cricket team will be rewarded if it wins the match, @ (pog).( pvq)

(R, W) p.q
fpde dm qEga @ S AR @8 A9 a0 " pvq
2 _ (i) p>(g.0~q)
(ii) It is not the case that you attend the classes but you . @. t& 2p
are not marked present. (C, P) < P'= @, ~ 3 "
tar W& & & gu e ¥ Sufte @ g 0= E_ (b) Use truth tables to determine whether the followin
" . b4
tat
Suftgq & EEman A | N J statement forms are tautologous, contingent or self-
(iii) A book is interesting only if it is well written. (I, W) _ contradictory:(any one)
U ge e § daw At 9 o feelt | SRR 351 el e gy PrerfRer o 2 Rrafiri
TR F ¥ A oar .
2 _m gy TS, A AT AT & ()
(iv) Some photographers are skilful but not imaginative. 4
FB B FIW 89 © fohrg BT Tl | it @ [(p>4).(p>1)]=[p> (47)] 4
(v) Lewis and Clark both will not be elected. (L, C) oF w, (¢) Use shorter truth table method to determine th
) ) ) . - ne the validity/
mr_.m.m R FE ol wwq ERVICO R . mvalidity of the following argument forms (any VQ
Eﬂ% one):—
(vi) Teachers are either enthusiastic or unsuccessful. m@ﬂ HATHR &Y wﬂﬂxaﬂﬁﬂ TN T
E U) ,__ M._v: e Zm e (@ )
. I =)
FEATE AT A SAETHH B & AT SWEA | 4 dal &L
| (ar)>p
7. (a) Use truth tables to determine the validity/invalidity of ~p
the following arguments: (any one) % (i) (pvg)or
Prafafaa gfeal @ Juaredear g el fBfr & r>(pq)
g 4 FuiRa #ifg A% TF): . ~(p.g)> ﬁﬁ.(@.v
8764 4
: 7
Turn over

8764 6



8. Explain and illustrate any two of the fiollowing informai
fallacies:
Frafalen sFTaie aedel & ¥ el & & |
AT BT _
(a) Fallacy of Composition
Hefa <9
(b) Begging the question
TWhE AT
(c) Fallacy of converse accident
uRafia Iq@eer 3w
(d) Fallacy of false cause.

freeres w1 4x2=8

8764 8
600

r——

This question paper contains 3 printed pages.
Your RoOll NO.. iriisrivseassmsssnsssansiveses

Sl. No. of Ques. Paper: 8796 GC-4
Unique Paper Code : 12135902

Name of Paper : Indian Culture and Social Issues
Name of Course : GE : Hons. for Sanskrit
Semester . : II/IV

Duration : 3 hours

Maximum Marks : 15
(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note:— Unless otherwise required in a question, answers
should be written in Sanskrit or in Hindi or in
English, but the same medium should be used
throughout the paper.

feoruit:— s/=rer 3avg® T @7 W 39 ¥¥I-UT & I
T&Ea a1 51 ar 7T fFE o 99 8 dfae
§ R T I F ATHT TH & &7 T/

&4 Fv & I ST

Answer all questions.

1. W&pfa ot waar & &1 o 22 3@ W= ¥ fay
Gl T YR S |

What is difference between culture and civilization?
Discuss the Indus civilization in this context.

YET (Or) |
£t T § W H I Freifte SR |
P.T.O.
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2.

What is the position of Sanskrit in Indo-Islamic
tradition? 15

ﬁmm%iﬂﬁ.gaﬂﬂamﬂ%gﬁ
w5 fveel i

Discuss the Sanskrit themes of traditional dance forms
in Kerala.

AT (Or)
yﬂuﬂﬂ@@ﬁ%@m_ﬂﬂmﬂ.ﬁhﬁﬁa%
fore =t e s3fm |

Discuss the evolution of the meaning of ‘Dharma’
from ancient period to modern period. 15

gg%@?ﬂa@ﬂﬂﬁ%_

Critically examine the different aspects of traditional
Varna hierarchy.

HqYgdT (Or)
%&Wﬁ%%mﬂim@gﬂﬂﬂﬂmﬂqﬁ
HedTehA HS | . |
Evaluate the reactions of Karna and Duhsasana in

response to Draupadi’s question. 15

PRTR 3 ferl & ww A e @ S

FEIYEAT S FRT S19T forayr 3 farveryor e |
Analyse that VijiiZneévara has given a strong answer to

the bigoted persons for the right to property of
women.

v

3

LGN (Or)

8796

TEIWIT & WWTTE ¥ IFER el @t Ry s faaee

FHifeu |

to

Déscribe the position of women according
Sabh@parva of Mahabharata. 15
. fafafes & @ frslt @7 w wfaa ool i

(2) Afcw wwra

(b) HHIT H FYEENT

(c) T

(d) smavit gftfar

(e) Tiamfa= |

| Write short notes on any three of the following:

(a) Vedic Civilization

(b) Somadeva’s Kathasaritsagara

(c) Pongala

_av wmm<m:,wwmamm5m

(e) Gitagovinda. 5%3=15
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S. No. of Question Paper 2466

Unique Paper Code 1 32375201 GC4
Name of the Paper : Introductory Probability

Name of the Course « R Statislics for Honours

Semester i

Duration : 3 Hours Maximum Marks : 75

(Irite your Roll No. on the tap immediatelh: on receipt of this guestion paper.)

Section A s compulsory,

Attempt any five. questions, selecting at

least nro questions from each of the sections B and C.

Use of simple calculator-is allowed.

Section A

[ Answer the following :

()

(/i)

[f mean and variance of X Is 10 and 50 respectively,
then E{X?} VRS o I
Let F(1) = 0.3. F(2) = 0.5, F(3) = 0.8 and F(-#} = 1.2,
Can F(x) serve as distribution function of a r.v. with

the range 1. 2. 3 and 4 2 State the reason. l
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( 2 )

Giiy A and B are events such that pAUB) =
il é

4= | o

3 = —. FI (A BY.
P(A NB) = = and P(A) . Find P

(iv) If Cov(X. Y) = 20, E(X) = 15 and E(Y) = 4. then
|

E(XY) = wuvmersnrnnnnes -
(v)  Define convergence in probability. I
(viy Let X be a Normal variate with m.g.f. My (n = exp
(15 18/2). Find the mean and variance of X. 2

A v _\— x 1S a hmo 1 i T_F (Z—ﬁ_ :.ml.—.

-
n_g _then m.ef. of ¥ = X

Lad

12

. sndent  r.v's with
T d Y are  indepen
(viii) 1t X an

13. py =20, oy =49 and o. =100. then
u, =13 py =20

q
E(@X + 6Y) = ceeerene and Var(@X + 6Y) = v o =

Au.( ._m A a Q ﬂm I u _.n_._ \ Wﬂnl.—:ﬂ s / #
v I are Il {u _, h sive geven with

" = and
P(A) = 0.37. and P(B) = 0.44. then P(A") = .o @N

12

PLA & B = iousmmemanes

Sy,

o 1

(h)

246

(x) What is the smallest value of & in Chebyshev ™

inequality for which the probability that a randonw

variable will take on a value between p — ko anc
L+ ko is at least 0,95 ©

i

Section B

(¢)  State Bayes® theorem. At a hospital's CMErgency room.
patients are classified and 20% of them are critical. 30%
are scrious and 50% are stable. Of the critical ones,
30% die: of the serious, 10% die; and of the stable,

1% die,

() Find the probability that a patient selected at

random will die.

(1) Given that a patient dies, what is the conditional

probability that the patient was classified as

critical ?

The odds that a book on Statistics will be favourably
reviewed by 3 independent critics are 3 to 2. 4 to 3
and 2 to 3 respectively. What is the probability that

of the three reviews : 6.6

(1) All will be favourable.

(1)

Exactly one review will be favourable. and

(i) Av least one of the reviews will be favourable.

RTO.
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: _ . 4. (¢)  Find the moment generating function of the random
(¢) Let X be a continuous random variable with p.d.f. I £
i s N variable X whose probability density function is given by
kx(l=x). O0< =l ;
i i : J GRRE
0. elsewhere. _ Jx) =
0, elsewhere,

(i) Determine A.

_ and use it to find the expression for p'. Hence obtain
(i) Obtain distribution function F(x). Hence evaluate p .

. _ mean and variance of X.
P(X = 0.6). : it Wi O 3
‘. S
. b)  Let the probability mass function of the random variable
(#i)) Compute P(0.2< X £0.6) : ( P ¥
. jable with distribution _ X be given by~
(h) Let X be a discrete random variable wi
ﬁ..“ i .“.x.l..\.u._ > <
function : . . ; :.Gniﬂ[ for x=—1,0,1.3.
‘ Find E(X2 ~ 5X +3) and Var3X + 5). 75
0 .forx<?2 #
s Section C
4 for2 <x <4
4
S (@)  State De-Moivre’s Laplace Central Limit theorm. Let
| £ 4 :
F(x) = {— ford<x<6 .
2 X Rallom X, be the sequence of independent random
5 : it : :
2 for6sx<l0 z : ELTAR
6 o variables with distribution defined as -
1 forx=10

P(X, =0)=1—£ ™, P(X, uijnw»%.

(/) ~ Obtain p.m.f. of X. _

where o< =

(i) Compute P(X<9) and P(2.5<X<6.5).

Show that the central limit theorem holds:
i j 6.6
(iif) Compute mean and variance of X.
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(®)

State Chebyshev's inequality. For fx) = 27V y = 2.3,

.

ey prove that. Chebyshev's inequality gives

P(X <2< wvwo..un while the actual uqo_um_u::w is 7/8.
6.6

Derive mean and variance of vEmwc: distribution with

parameter A.

In a book of mwc pages. 390 Qvo.m_,mv._:nm* errors occur.

Assuming Poisson law for the number of errors per

page, find the probability that a random sample of §

pages will contain no error.

If X is a binomial variate with.n = 5 such that

P(X=1) = 0.4096 and P(X = 2) = 0.2048. Find

PiX.= 3). 444

Derive the mean and variance of negative binomial'

distribution with p.m.f.

XA4r =
plg'.  forx=0,12...
r=] :

f(x)=|

0, elsewhere.
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2466
he random variables X; (i = 1.2.3.4.5) are independent

and identically distributed with p.d.f.

Obtain the distribution of (i) <nr_.Mx_. and
. 5

iy W = 3X, - Xy + 2X,, 84
Let X be a random variable having p.d.f.

flx)= il_l x{(1=5).0< <,

! B(2.3)
f - |
Find (/) P(X < 0.5) and (i) P(0.5 < X < 1).
(hy "~ If X is uniformly distributed with u'; = 1 and

My = 43 then find P(X < 0).

(¢) Let the p.df of rv. X be fix) = 8 exp (=Bx). x > 0.

Identify the distribution of X. Derive its mean and

variance. 444



